Here’s is the code for both formulas below for the Chaikin Oscillator and Demand Index

Problem mostly with the Chaikin Oscillator going off the scale as seen in the chart screenshot here:[image: image1.png]O 144ez W 14834 L 14478 C A4488
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/*******************************************************************

Description
: This Indicator plots the Chaikin Oscillator

Provided By
: TS Support, LLC for eSignal

********************************************************************/

function preMain(){


setStudyTitle("COsc");


setCursorLabelName("Chaikin Oscillator",0);


setDefaultBarFgColor(Color.blue,0);

        addBand(0, PS_SOLID, 1, Color.lightgrey);

}

var AccumDist_1 = 0;

var FEMA_1 = 0;

var SEMA_1 = 0;

function main(Slow,Fast){


if(Slow == null)



Slow = 10;


if(Fast == null)



Fast = 3;


var K1 = 2 / (Fast + 1);


var K2 = 2 / (Slow + 1);


var AccumDist = 0;


if( ( high() - low() ) * volume() > 0)



AccumDist = AccumDist_1 + ((close() - low()) /  (high() - low()) * volume());


FEMA = K1 * AccumDist + (1 - K1) * FEMA_1;


SEMA = K2 * AccumDist + (1 - K2) * SEMA_1;


if (getBarState() == BARSTATE_NEWBAR){



AccumDist_1 = AccumDist;



FEMA_1 = FEMA;



SEMA_1 = SEMA;


}


return  FEMA-SEMA;

}

/*******************************************************************

Provided By
:  Demand Index TS Support, LLC for eSignal. (c) Copyright 2002  

********************************************************************/

function preMain()

{

    setStudyTitle("Demand Index");

    setCursorLabelName("Demand Index", 0);

    setDefaultBarFgColor(Color.blue, 0);

    addBand(0, PS_SOLID, 1, Color.black);

}

vAvgTR = new Array();

var VolAvg_1 = 0;

var WghtClose_1 = 0;

var BuyPres_1 = 0;

var SellPres_1 = 0;

function main(Length) {


if(Length == null)



Length = 5;

    
var i;

    
var vSum = 0.0;

    
var hh2, ll2;


var  WtCRatio = 1, VolRatio = 1, BuyP = 1, SellP = 1, Sign = 1, Constant = 1,  BuyPres = 1,  SellPres = 1, TempDI = 1,  DMI = 1, WghtClose = 0,  AvgTR = high() - low(),  VolAvg = volume(); 


if(getCurrentBarIndex() - getOldestBarIndex() == 1){



for(i = -Length + 1; i >= 0; i++)

        

vSum += volume(i);



VolAvg = vSum / Length;


}


WghtClose = (high() + low() + 2 * close()) * .25;


if(high() > high(-1))



hh2 = high();


else



hh2 = high(-1);


if(low() < low(-1))



ll2 = low();


else



ll2 = low(-1);


if (getBarState() == BARSTATE_NEWBAR){



for(i = Length - 2; i >= 0; i--)




vAvgTR[i + 1] = vAvgTR[i]



vAvgTR[0] = hh2 - ll2;


}


vSum = 0;


for(i = 0; i < Length; i++)



vSum += vAvgTR[i]


AvgTR = vSum / Length;


VolAvg = ((VolAvg_1 * (Length - 1)) + volume()) / Length;


if(WghtClose != 0 && WghtClose_1 != 0 && AvgTR != 0 && VolAvg != 0){



WtCRatio = (WghtClose - WghtClose_1) / Math.min(WghtClose, WghtClose_1) ; 

        
VolRatio = volume() / VolAvg; 

        
Constant   = ((WghtClose * 3) / AvgTR) * Math.abs(WtCRatio); 



if(Constant > 88)




Constant = 88;



Constant   = VolRatio / Math.exp(Constant);

        
if(WtCRatio > 0){


            BuyP = VolRatio; 

         
    SellP = Constant; 

        
}

        
else{

                    BuyP = Constant; 

        
    SellP = VolRatio; 

        
}



BuyPres = ((BuyPres_1 * (Length - 1)) + BuyP) / Length; 

        
SellPres = ((SellPres_1 * (Length - 1)) + SellP) / Length; 



TempDI   =  +1; 

        
if(SellPres  > BuyPres){

                    Sign  =  -1; 

            
    if(SellPres != 0)

            
    
TempDI = BuyPres / SellPres; 

        
}

        
else{

        
     Sign  =  +1; 

            
     if(BuyPres != 0)

            
     
TempDI = SellPres / BuyPres; 

        
}



TempDI = TempDI * Sign; 

        
if(TempDI < 0)


                DMI = -1 - TempDI; 

        
else 

                
DMI = +1 - TempDI; 



}


if (getBarState() == BARSTATE_NEWBAR){



WghtClose_1 = WghtClose;



if(getCurrentBarIndex() - getOldestBarIndex() > 5){




BuyPres_1 = BuyPres;




SellPres_1 = SellPres;



}



VolAvg_1 = VolAvg;


}

        return DMI; 

}
